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POLL 1

IF (-11) is divided by 3, then what will be the quotient?

a)-3

b)3

c)-4

d)0

e)None of above 



POLL 2

IF (-11) is divided by 3, then what will be the remainder?

a)2

b)-2

c)-20

d)1

e)None of above 



What is Remainder?

Suppose, the dividend is f(x), the divisor is (x-a)

And with them, the quotient is h(x) and the remainder is r

So, we can say,

f(x)=(x-a).h(x)+r

If we replace the value of x with a, we get,

f(a)=(a-a).h(a)+r,

Or, f(a)=r

Which was our remainder.



01. 𝑓 𝑥 = 𝑥3 − 𝑥 − 6

If we divide f(x) by (x-3) ,what will be the remainder?

(a) 16 (b) 17 (c) 18 (d) 19

Poll Question: 03



The Remainder Theorem

• If you divide a polynomial f(x) by (x – a), then the remainder is f(a).

• If you divide a polynomial f(x) by (x + a), then the remainder is f(-a).

• If the degree of f(x) is positive, and a≠0, then if you divide f(x) by (ax+b), 
the remainder will be f(-b/a)

Factor Theorem:

If and only if the value of f(a) is 0, then the polynomial f(x) is divisible by (x–a).

Then (x-a) is a factor of f(x).



If 𝑓 𝑥 = 3𝑥2 − 7𝑥 − 6,then which one will be a factor of f(x)?

(a) (𝑥 + 1) (b) (𝑥 − 1) (c) (𝑥 − 2) (d) (𝑥 − 3)

Poll Question: 4



Time Consumption 

• Smart Way:

1. Write the total function f(x) on your scientific calculator.

2. Make this function an equation by adding ‘=0’ at last part (you can get = sign by 
pressing ‘Alpha’ and then ‘CALC’ button).

3. Click ‘Shift’ and then ‘CALC’

4. Repeat point 3 again

5. BOOM! You got a value of a 



Example : 1      3a3 + 2a + 5

Example : 2      x3 + 2x2 − 5x − 6

Example : 3 4a4 + 12a3 + 7a2 − 3a − 2

Example : 4      a3 − 7a2b + 7a2 − b3

Example : 5      x6 − x5 + x4 − x3 + x2 − x

EXAMPLES



• Example-1 :  3a3 + 2a + 5

EXAMPLE



GRAPHICAL EXPLANATION:

Example- 1: 3a3 + 2a + 5



• Example : 2      x3 + 2x2 − 5x − 6

EXAMPLES



GRAPHICAL EXPLANATION:

Example : 2      𝑥3 + 2𝑥2 − 5x − 6



Poll 5

• The abscissas of the points where the graph of f(x)=18𝑥3 + 15𝑥2 −
𝑥 − 2 will intersect are-

a) -0.5,
−2

3
,
−1

3

b)
1

2
,
2

3
,
1

3

c)
−1

2
,
−2

3
,
1

3

d)
1

2
,
2

3
,
−1

3



• Example : 3     4𝑎4 + 12𝑎3 + 7𝑎2 − 3𝑎 − 2

EXAMPLE



Example : 4    𝑎3 − 7𝑎2𝑏 + 7𝑎2 − 𝑏3

EXAMPLE



Example : 5      x6 − x5 + x4 − x3 + x2 − x

EXAMPLE:



লেগে থাগ া সৎভাগি, 
স্বপ্নজয় ল ািারই িগি
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Thank You
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